There’s someone - something + INGform
Popis scény. Popisujeme, co dělají osoby.
There is + 1 osoba/věc + ING tvar
There are + 2 a více osob/věcí + ING tvar

There is a man. He is opening the window. =
There’s a man opening the window. 

There are some people. They are dancing.
There are some people dancing.


Can see / hear someone/ something + INGform

Po slovesech smyslového vnímání (see, hear, feel, smell, notice) můžeme použít ING tvar:
[bookmark: _GoBack]
I can see her. She is opening the door. =
I can see her opening the door.

I heard the phone. The phone was ringing.
I heard the phone ringing.

